RESEARCH





A modified viscosity implicit-type proximal point algorithm for monotone inclusions and asymptotically nonexpansive mappings in Hadamard spaces

Shih-sen Chang¹, Jen-Chih Yao¹, Ching-Feng Wen^{2,3*} and Lin Wang⁴

*Correspondence: cfwen@kmu.edu.tw

²Center for Fundamental Science; and Research Center for Nonlinear Analysis and Optimization, Kaohsiung Medical University, Kaohsiung, Taiwan ³Department of Medical Research, Kaohsiung Medical University Hospital, Kaohsiung, Taiwan Full list of author information is available at the end of the article

Abstract

The purpose of this article is to propose a modified viscosity implicit-type proximal point algorithm for approximating a common solution of a monotone inclusion problem and a fixed point problem for an asymptotically nonexpansive mapping in Hadamard spaces. Under suitable conditions, some strong convergence theorems of the proposed algorithms to such a common solution are proved. Our results extend and complement some recent results in this direction.

MSC: 47H09; 47J25; 47H05; 47J05; 47J20; 65K05

Keywords: Hadamard space; CAT(0) space; Viscosity implicit approximation methods; Monotone mapping; Proximal point algorithm

1 Introduction

One of the most important parts in nonlinear and convex analysis is monotone operator theory. The following zero problem is one of the most important problems in monotone operator theory:

to find
$$x \in D(A)$$
 such that $0 \in A(x)$, (1.1)

where A is a monotone operator. This problem includes, as special cases, convex programming, variational inequalities, split feasibility problem and minimization problem. To be more precise, some concrete problems in machine learning, image processing and linear inverse problem can be modelled mathematically as this form [1, 2].

A popular method for approximation of a zero of a monotone operator *A* is the proximal point algorithm, which was introduced in Hilbert space *H* by Martinet [1] and Rockafellar [2] as follows:

$$x_{n+1} - x_n \in \lambda_n A(x_n), \quad x_0 \in H,$$
(1.2)

where $\{\lambda_n\}$ is a sequence of positive real numbers. Rockafellar [2] (see, also Bruck and Reich [3]) proved that the sequence generated by the proximal point algorithm is weakly

© The Author(s) 2018. This article is distributed under the terms of the Creative Commons Attribution 4.0 International License (http://creativecommons.org/licenses/by/4.0/), which permits unrestricted use, distribution, and reproduction in any medium, provided you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons license, and indicate if changes were made.



convergent to a zero of the monotone operator *A* provided $\lambda_n \ge \lambda > 0$, for each $n \ge 1$. Güler's counterexample [4] (see, also Bauschke [5]) showed that the sequence generated by (1.2) does not necessarily converge strongly even if the maximal monotone operator is the subdifferential of a convex, proper, and lower semicontinuous function.

Another algorithm for approximation a zero of the monotone operator *A* is the viscosity approximation method which was proposed by Takahashi [6] in Banach spaces

$$x_{n+1} = \alpha_n f(x_n) + (1 - \alpha_n) J^A_{\lambda_n} x_n,$$
(1.3)

where *f* is a contractive mapping and $J_{\lambda}^{A} = (I + \lambda A)^{-1}$, $\lambda > 0$ is the resolvent of *A*. Under suitable conditions, he proved strong convergence of (1.3) in Banach spaces.

In 2006, Maingé [7] also studied the following more general iteration:

$$x_{n+1} = \alpha_n T_n(x_n) + (1 - \alpha_n) J^A_{\lambda_n} x_n,$$
(1.4)

where $\{T_n\}$ is a family of nonexpansive mappings. Under suitable conditions he proved strong convergence of (1.4) in Banach spaces.

In 2013, Bačák [8] proved the \triangle -convergence of proximal point algorithm in CAT(0) spaces when the operator A is the subdifferential of a convex, proper, and lower semicontinuous function. Recently, some more general modified proximal point algorithms in CAT(0) have been considered by Li et al. [9], Cholamjiak [10], Chang et al. [11–13], Khatibzadeh et al. [14–16], Cholamjiak et al. [17], Suparatulatorn et al. [18] and Bačak and Reich [19], Sahu [20].

Very recently, Ranjbar and Khatibzadeh [16] introduced the concept of monotone operator in Hadamard space X, and considered some properties of a monotone operator and its resolvent operator, then proposed the following proximal point algorithm:

$$\begin{cases} x_{n+1} = J_{\lambda_n} x_n, \\ x_0 \in X, \end{cases}$$
(1.5)

where $A : X \to 2^{X^*}$ is a multi-valued monotone operator, $\{\lambda_n\}$ is a sequence of positive real numbers and J_{λ} is the resolvent of A defined by (2.8) (see, Sect. 2). Under suitable conditions they proved that the sequence $\{x_n\}$ \triangle -converges or converges strongly to a zero of A.

Motivated and inspired by the research going on in this direction, the purpose of this article is to propose a modified viscosity implicit-type proximal point algorithm for approximating a common solution of monotone inclusion problem and fixed point problem for an asymptotically nonexpansive mapping in Hadamard space which is also a unique solution of some variational inequality problems. Our results extend and complement the main results of Bačák [8], Khatibzadeh et al. [14–16].

2 Preliminaries and Hadamard spaces

Let (X,d) be a metric space and $x, y \in X$. A geodesic path joining x to y is an isometry $c : [0, d(x, y)] \to X$ such that c(0) = x and c(d(x, y)) = y. The image of a geodesic path joining x to y is called a geodesic segment between x and y. The metric space (X, d) is said to be a geodesic space, if every two points of X are joined by a geodesic. X is said to be uniquely geodesic space, if there is exactly one geodesic joining x and y for each $x, y \in X$.

A geodesic space (X, d) is a CAT(0) space, if and only if the following "CN-inequality" holds:

$$d^{2}((1-t)x \oplus ty, z) \le (1-t)d^{2}(x, z) + td^{2}(y, z) - t(1-t)d^{2}(x, y)$$
(2.1)

for all $x, y, z \in X$ and all $t \in [0, 1]$ [21].

It is well known that any complete and simply connected Riemannian manifold having nonpositive sectional curvature is a CAT(0) space. The Hilbert ball with the hyperbolic metric is an important example of a CAT(0) space [22]. Other examples of CAT(0) spaces include pre-Hilbert spaces, *R*-trees, Euclidean buildings [23].

A complete CAT(0) space is often called an *Hadamard space*. We write $(1 - t)x \oplus ty$ for the unique point z in the geodesic segment joining from x to y such that d(x, z) = td(x, y) and d(y, z) = (1 - t)d(x, y). We also denote by [x, y] the geodesic segment joining x to y, that is, $[x, y] = \{(1 - t)x \oplus ty : 0 \le t \le 1\}$. A subset C of a CAT(0) space is convex if $[x, y] \subset C$ for all $x, y \in C$.

Berg and Nikolaev [24] introduced the following concept of quasilinearization in CAT(0) space *X*.

- Denote a pair $(a, b) \in X \times X$ by \overrightarrow{ab} and call it a *vector*.
- *Quasi-linearization* in CAT(0) space *X* is defined as a mapping $\langle \cdot, \cdot \rangle : (X \times X) \times (X \times X) \rightarrow \mathbf{R}$ such that

$$\langle \overrightarrow{ab}, \overrightarrow{cd} \rangle = \frac{1}{2} \left(d^2(a,d) + d^2(b,c) - d^2(a,c) - d^2(b,d) \right)$$
(2.2)

for all $a, b, c, d \in X$.

It can easily be verified that $\langle \overrightarrow{ab}, \overrightarrow{ab} \rangle = d^2(a, b), \langle \overrightarrow{ba}, \overrightarrow{cd} \rangle = -\langle \overrightarrow{ab}, \overrightarrow{cd} \rangle$ and $\langle \overrightarrow{ab}, \overrightarrow{cd} \rangle = \langle \overrightarrow{ae}, \overrightarrow{cd} \rangle + \langle \overrightarrow{eb}, \overrightarrow{cd} \rangle$ for all $a, b, c, d, e \in X$.

• We say that *X* satisfies the Cauchy–Schwarz inequality if

$$\langle \overrightarrow{ab}, \overrightarrow{cd} \rangle \le d(a, b)d(c, d), \quad \forall a, b, c, d \in X.$$
 (2.3)

It is well known [24, Corollary 3] that a geodesically connected metric space is a CAT(0) space if and only if it satisfies the Cauchy–Schwarz inequality.

The following inequalities can be proved easily.

Lemma 2.1 Let X be a CAT(0) space. For all $x, y, z \in X$ and $t, s \in [0, 1]$, we have the following:

- (1) $d(tx \oplus (1-t)y, z) \le td(x, z) + (1-t)d(y, z),$
- (2) $d(tx \oplus (1-t)y, sx \oplus (1-s)y) = |t-s|d(x,y),$
- (3) $d(tx \oplus (1-t)y, tu \oplus (1-t)w) \le td(x, u) + (1-t)d(y, w),$
- (4) by using equality (2.2), inequality (2.1) can be written as

$$d^{2}((1-t)x \oplus ty, z) \leq (1-t)d^{2}(x, z) + td^{2}(y, z) - t(1-t)d^{2}(x, y)$$
$$= (1-t)^{2}d^{2}(x, z) + t^{2}d^{2}(y, z) + 2t(1-t)\langle \overrightarrow{xz}, \overrightarrow{yz} \rangle.$$
(2.4)

• By using quasilinearization, Kakavandi and Amini [25] introduced the concept of dual space of a Hadamard space *X* as follows.

Consider the mapping Θ : **R** × *X* × *X* → *C*(*X*, **R**) defined by

$$\Theta(t, a, b)(x) = t \langle \overrightarrow{ab}, \overrightarrow{ax} \rangle \quad (t \in \mathbf{R}, a, b, x \in X),$$

where $C(X, \mathbf{R})$ is the space of all continuous real-valued functions on *X*. Then the Cauchy–Schwarz inequality implies that $\Theta(t, a, b)$ is a Lipschitz function with Lipschitz semi-norm $L(\Theta(t, a, b)) = |t|d(a, b)$ ($t \in \mathbf{R}$, $a, b \in X$), where

$$L(\phi) = \sup\left\{\frac{\phi(x) - \phi(y)}{d(x, y)} : x, y \in X, x \neq y\right\}$$

is the Lipschitz semi-norm for any function $\phi : X \to \mathbb{R}$. A pseudometric *D* on $\mathbb{R} \times X \times X$ is defined by

$$D((t,a,b),(s,c,d)) = L(\Theta(t,a,b) - \Theta(s,c,d)) \quad (t,s \in \mathbf{R}, a, b, c, d \in X).$$

For an Hadamard space (*X*, *d*), the pseudometric space ($\mathbf{R} \times X \times X, D$) can be considered as a subspace of the pseudometric space of all real-valued Lipschitz functions (Lip(*X*, **R**), *L*). By [25, Lemma 2.1], D((t, a, b), (s, c, d)) = 0 if and only if $t\langle \overrightarrow{ab}, \overrightarrow{xy} \rangle = s\langle \overrightarrow{cd}, \overrightarrow{xy} \rangle, \forall x, y \in X$ Thus, *D* induces an equivalence relation on $\mathbf{R} \times X \times X$, where the equivalence class of (t, a, b) is

$$[\overrightarrow{tab}] = \left\{\overrightarrow{scd}: D((t,a,b), (s,c,d)) = 0\right\}$$

The set $X^* = \{ [\overrightarrow{tab}] : (t, a, b) \in \mathbf{R} \times X \times X \}$ is a metric space with metric

$$D([tab], [scd]) := D((tab), (scd)),$$

which is called the dual space of (X, d). It is clear that $[\overrightarrow{aa}] = [\overrightarrow{bb}]$ for all $a, b \in X$. Fix $x \in X$, we write $0 = [\overrightarrow{xx}]$ as the zero of the dual space.

Example In [25], it is shown that the dual of a closed and convex subset of a Hilbert space H with nonempty interior is H and $t(b-a) \equiv [\overrightarrow{tab}]$ for all $t \in \mathbf{R}$, $a, b \in H$.

Note that X^* acts on $X \times X$ by

$$\langle x^*, \overrightarrow{xy} \rangle = t \langle \overrightarrow{ab}, \overrightarrow{xy} \rangle \quad (x^* = [t\overrightarrow{ab}] \in X^*, x, y \in X).$$

Also, we use the following notation:

$$\langle \alpha x^* + \beta y^*, \overrightarrow{xy} \rangle = \alpha \langle x^*, \overrightarrow{xy} \rangle + \beta \langle y^*, , \overrightarrow{xy} \rangle \quad (\alpha, \beta \in \mathbf{R}, x, y \in X, x^*, y^* \in X^*).$$

Let $\{x_n\}$ be a bounded sequence in a Hadamard space *X*. For $x \in X$, define $r(x, \{x_n\}) := \limsup_{n \to \infty} d(x, x_n)$. The asymptotic radius $r(\{x_n\})$ of $\{x_n\}$ is defined by $r(\{x_n\}) = \inf\{r(x, \{x_n\}) : x \in X\}$, and the asymptotic center $A(\{x_n\})$ of $\{x_n\}$ is the set $A(\{x_n\}) = \{x_n\}$.

 $\{x \in X : r(x, \{x_n\})\} = r(\{x_n\})$. It is well known that in a CAT(0) space, $A(\{x_n\})$ consists of exactly one point (see [26, Proposition 7]). A sequence $\{x_n\}$ in *X* is said to be \triangle -convergent to a point *w*, if *w* is the unique asymptotic center of every subsequence $\{u_n\}$ of $\{x_n\}$. This is written as \triangle -lim_{$n \to \infty$} $x_n = w$. (We denote it by $\{x_n\} \rightarrow w$).

Lemma 2.2 Let X be an Hadamard space. The following statements hold.

- (1) [27] Every bounded sequence in a Hadamard space always has a Δ -convergent subsequence.
- (2) [28] A sequence $\{x_n\} \triangle$ -converges to $x \in X$ if and only if

 $\limsup_{n\to\infty} \langle \overrightarrow{xx_n}, \overrightarrow{xy} \rangle \leq 0, \quad \forall y \in X.$

Let *C* be a nonempty closed convex subset of an Hadamard space *X*. The *metric projection P_C* : *X* → *C* is defined by

$$u = P_C(x) \quad \longleftrightarrow \quad d(u, x) = \inf\{d(y, x) : y \in C\}, \quad x \in X.$$

$$(2.5)$$

Lemma 2.3 ([24]) Let C be a nonempty closed and convex subset of an Hadamard space $X, x \in X$ and $u \in C$. Then $u = P_C(x)$ if and only if

$$\langle \overrightarrow{yu}, \overrightarrow{ux} \rangle \ge 0, \quad \forall y \in C.$$
 (2.6)

Definition 2.4 Let *X* be an Hadamard space with dual X^* and $A : X \to 2^{X^*}$ be a multivalued mapping with domain $D(A) := \{x \in X : A(x) \neq \emptyset\}.$

(1) *A* is said to be monotone [15], if for all $x, y \in D(A)$, $x^* \in Ax$ and $y^* \in Ay$

$$\left\langle x^* - y^*, \overline{yx} \right\rangle \ge 0. \tag{2.7}$$

The multi-valued monotone operator $A : X \to 2^{X^*}$ is maximal if there exists no monotone operator $B : X \to 2^{X^*}$ such that graph(*B*) properly contains graph(*A*).

(2) Let $\lambda > 0$ and $A : X \to 2^{X^*}$ be a set-valued operator. The resolvent of A of order λ is the set-valued mapping $J_{\lambda} : X \to 2^X$ defined by

$$J_{\lambda}(x) := \left\{ z \in X : \left[\frac{1}{\lambda} \overrightarrow{zx} \right] \in Az \right\}.$$
 (2.8)

(3) *A* is said to satisfy the range condition [15] if, for each $\lambda > 0$ $D(J_{\lambda}) = X$, where J_{λ} is the resolvent of *A* defined by (2.8).

Remark It has shown in [9] if *A* is a maximal monotone operator on an Hadamard space, then *A* satisfies the range condition.

Definition 2.5 Let $T: X \to X$ be a mapping. *T* is said to be:

(1) nonexpansive if

$$d(Tx, Ty) \le d(x, y), \quad \forall x, y \in X;$$
(2.9)

(2) firmly nonexpansive if

$$d^{2}(Tx, Ty) \leq \langle \overline{TxTy}, \overline{xy} \rangle, \quad \forall x, y \in X;$$
(2.10)

(3) asymptotically nonexpansive, if there is a sequence $\{k_n\} \subset [1, \infty)$ with $k_n \to 1$ as $n \to \infty$ such that

$$d(T^n x, T^n y) \le k_n d(x, y), \quad \forall n \ge 1, x, y \in X.$$
(2.11)

Lemma 2.6

- (1) (By the definition of firmly nonexpansive mapping and Cauchy–Schwarz inequality, it is clear that) each firmly nonexpansive mapping T is nonexpansive.
- (2) [29] Let C be a closed convex subset of a Hadamard space X and $T : C \to X$ be an asymptotically nonexpansive mapping. Let $\{x_n\}$ be a bounded sequence in C such that $x_n \to p$ and $\lim_{n\to\infty} d(x_n, Tx_n) = 0$, then Tp = p.

Theorem 2.7 ([15]) Let X be an Hadamard space and J_{λ} be the resolvent of the operator A of order λ . Then

- (i) for any $\lambda > 0$, $R(J_{\lambda}) \subset D(A)$, $Fix(J_{\lambda}) = A^{-1}(0)$, where $R(J_{\lambda})$ is the range of the mapping J_{λ} and $Fix(J_{\lambda})$ is the set of fixed points of J_{λ} ;
- (ii) if A is monotone, then, for each $\lambda > 0$, J_{λ} is a single-valued and firmly nonexpansive mapping.

Remark 2.8 It is well known that if *C* is a nonempty and closed convex subset of a CAT(0) space and $T: C \rightarrow C$ is a nonexpansive mapping, then Fix(*T*) is closed and convex. Thus, if *A* is a monotone operator on a CAT(0) space *X*, then, by the conclusions (i) and (ii) of Theorem 2.7, $A^{-1}(0)$ is closed and convex.

Lemma 2.9 ([30]) Let $\{s_n\}$ be a sequence of nonnegative real numbers, $\{\alpha_n\}$ and $\{\beta_n\}$ be sequences of real numbers in (0, 1) with $\sum_{n=1}^{\infty} \alpha_n = \infty$, and $\{t_n\}$ be a sequence of real numbers such that

$$s_{n+1} \leq (1-\alpha_n)s_n + \alpha_n t_n + \beta_n, \quad \forall n \geq 1.$$

If $\limsup_{n\to\infty} t_n \leq 0$, and $\sum_{n=1}^{\infty} \beta_n < \infty$, then $\lim_{n\to\infty} s_n = 0$.

3 The main results

Now, we are in a position to give the main results in this paper.

Theorem 3.1 Let X be an Hadamard space with dual X^* . Let $T : X \to X$ be an asymptotically nonexpansive mapping with sequence $\{k_n\} \subset [1, \infty)$ and $\lim_{n\to\infty} k_n = 1, A : X \to 2^{X^*}$ be a multi-valued monotone operator satisfying the range condition and $f : X \to X$ be a contractive mapping with contractive coefficient $\gamma \in (0, 1)$ and, for arbitrary initial point $x_1 \in X$, let $\{x_n\}$ be the sequence generated by

$$\begin{cases} y_n = J_{\lambda}(x_n), \\ x_{n+1} = \alpha_n f(J_{\lambda}(x_n)) \oplus (1 - \alpha_n) T^n(\beta_n J_{\lambda}(x_n) \oplus (1 - \beta_n) J_{\lambda}(x_{n+1})), \end{cases} \quad \forall n \ge 1,$$
(3.1)

where $\{\alpha_n\}$ and $\{\beta_n\}$ are real sequences in (0, 1) satisfying the following conditions:

- (i) $\lim_{n\to\infty} \alpha_n = 0;$
- (ii) $\sum_{n=1}^{\infty} \alpha_n = \infty;$
- (iii) $\lim_{n\to\infty} \frac{k_n-1}{\alpha_n} = 0;$
- (iv) $\frac{|\alpha_n \alpha_{n-1}|}{\alpha_n^2} \to 0$, as $n \to \infty$;
- (v) *T* is uniformly asymptotically regular i.e., for any $x \in X$

$$\lim_{n\to\infty}d(T^nx,T^{n+1}x)=0.$$

If $\Gamma := Fix(T) \cap A^{-1}(0) \neq \emptyset$, then $\{x_n\}$ converges strongly to $x^* \in \Gamma$ which solves the following variational inequality:

$$\langle \overrightarrow{x^* f(x^*)}, \overrightarrow{qx^*} \rangle \ge 0, \quad \forall q \in \Gamma.$$
 (3.2)

Proof (I) *First we prove that* $\{x_n\}$ *defined by* (3.1) *is well defined.* In fact, for each $n \ge 1$, let us define a mapping $T_n : X \to X$ by

$$T_n(x) = \alpha_n f(J_\lambda(x_n)) \oplus (1 - \alpha_n) T^n (\beta_n J_\lambda(x_n) \oplus (1 - \beta_n) J_\lambda(x)).$$

Since *T* is asymptotically nonexpansive and J_{λ} is nonexpansive, we have

$$\begin{split} d(T_n x, T_n y) &= d\left(\alpha_n f\left(J_\lambda(x_n)\right) \oplus (1-\alpha_n) T^n \left(\beta_n J_\lambda(x_n) \oplus (1-\beta_n) J_\lambda(x)\right), \\ &\alpha_n f\left(J_\lambda(x_n)\right) \oplus (1-\alpha_n) T^n \left(\beta_n J_\lambda(x_n) \oplus (1-\beta_n) J_\lambda(y)\right)\right) \\ &\leq (1-\alpha_n) d\left(T^n \left(\beta_n J_\lambda(x_n) \oplus (1-\beta_n) J_\lambda(x)\right), T^n \left(\beta_n J_\lambda(x_n) \oplus (1-\beta_n) J_\lambda(y)\right)\right) \\ &\leq (1-\alpha_n) k_n d \left(\beta_n J_\lambda(x_n) \oplus (1-\beta_n) J_\lambda(x), \beta_n J_\lambda(x_n) \oplus (1-\beta_n) J_\lambda(y)\right) \\ &\leq (1-\alpha_n) k_n (1-\beta_n) d \left(J_\lambda(x), J_\lambda(y)\right) \\ &\leq (1-\alpha_n) k_n (1-\beta_n) d(x, y) \\ &\leq (1-\alpha_n) k_n d(x, y). \end{split}$$

By condition (iii), for any given $0 < \epsilon < 1 - \gamma$ there exists $n_0 \ge 1$ such that for any $n \ge n_0$ we have $k_n - 1 < \alpha_n \epsilon < \alpha_n (1 - \gamma) \le \alpha_n (k_n - \gamma)$, i.e., $(1 - \alpha_n)k_n < 1 - \alpha_n \gamma < 1$. Therefore for any $n \ge n_0$, $T_n : X \to X$ is a contractive mapping. By the Banach contraction principle, there exists a unique fixed point $x_{n+1} \in X$ of T_n for each $n \ge n_0$. Without loss of generality, in the sequel, we can assume that the following is true for all $n \ge 1$:

$$\begin{cases} k_n - 1 < \alpha_n \epsilon, \\ \frac{k_n - 1}{\alpha_n} < 1 - \gamma, & \forall n \ge 1. \\ (1 - \alpha_n)k_n < 1 - \alpha_n \gamma < 1, \end{cases}$$
(3.3)

Therefore $\{x_n\}$ is well defined.

(II) Next we prove that $\{x_n\}$ is bounded.

In fact, for each $p \in \Gamma := Fix(t) \cap A^{-1}(0)$ we have

$$\begin{aligned} d(x_{n+1},p) &= d\left(\alpha_n f(y_n) \oplus (1-\alpha_n) T^n \left(\beta_n y_n \oplus (1-\beta_n) y_{n+1}\right), p\right) \\ &\leq \alpha_n d\left(f(y_n), p\right) + (1-\alpha_n) d\left(T^n \left(\beta_n y_n \oplus (1-\beta_n) y_{n+1}\right), p\right) \\ &\leq \alpha_n \left\{d\left(f\left(J_\lambda(x_n)\right), f(p)\right) + d\left(f(p), p\right)\right\} \\ &+ (1-\alpha_n) k_n d\left(\beta_n y_n \oplus (1-\beta_n) y_{n+1}, p\right) \\ &\leq \alpha_n \gamma d\left(J_\lambda(x_n), p\right) + \alpha_n d\left(f(p), p\right) \\ &+ (1-\alpha_n) k_n d\left(\beta_n y_n \oplus (1-\beta_n) y_{n+1}, p\right) \\ &\leq \alpha_n \gamma d(x_n, p) + \alpha_n d\left(f(p), p\right) \\ &+ (1-\alpha_n) k_n \left\{\beta_n d(x_n, p) + (1-\beta_n) d(x_{n+1}, p)\right\}. \end{aligned}$$

After simplifying, and by using (3.3) we have

$$d(x_{n+1},p) \leq \frac{\alpha_n \gamma + k_n \beta_n - \alpha_n k_n \beta_n}{1 - (1 - \alpha_n - \beta_n + \alpha_n \beta_n) k_n} d(x_n,p) + \frac{\alpha_n}{1 - (1 - \alpha_n - \beta_n + \alpha_n \beta_n) k_n} d(f(p),p) = \left(1 + \frac{(k_n - 1) - \alpha_n k_n + \alpha_n \gamma}{1 - (1 - \alpha_n - \beta_n + \alpha_n \beta_n) k_n}\right) d(x_n,p) + \frac{\alpha_n}{1 - (1 - \alpha_n - \beta_n + \alpha_n \beta_n) k_n} d(f(p),p) \leq \left(1 + \frac{(\alpha_n \epsilon - \alpha_n k_n + \alpha_n \gamma)}{1 - (1 - \alpha_n - \beta_n + \alpha_n \beta_n) k_n}\right) d(x_n,p) + \frac{\alpha_n}{1 - (1 - \alpha_n - \beta_n + \alpha_n \beta_n) k_n} d(f(p),p) = \left(1 - \frac{k_n - \epsilon - \gamma}{1 - (1 - \alpha_n - \beta_n + \alpha_n \beta_n) k_n}\right) \alpha_n d(x_n,p) + \frac{\alpha_n}{1 - (1 - \alpha_n - \beta_n + \alpha_n \beta_n) k_n} d(f(p),p) \leq \left\{1 - \frac{(1 - \epsilon - \gamma)\alpha_n}{\alpha_n + \beta_n - \alpha_n \beta_n}\right\} d(x_n,p) + \frac{(1 - \gamma - \epsilon)\alpha_n}{(1 - \gamma - \epsilon)(\alpha_n + \beta_n - \alpha_n \beta_n)} d(f(p),p) \leq \max\left\{d(x_n,p), \frac{d(f(p),p)}{1 - \gamma - \epsilon}\right\}.$$

By induction we can prove that

$$d(x_n,p) \leq \max\left\{d(x_1,p),\frac{d(f(p),p)}{1-\gamma-\epsilon}\right\}.$$

This implies that the sequence $\{x_n\}$ is bounded, so $\{y_n\}$, $\{f(y_n)\}$ and $\{T^n(\beta_n y_n \oplus (1-\beta_n)y_{n+1})\}$ are also bounded.

(III) Next we define a sequence $\{w_n\}$ by

$$w_n = \alpha_n f(J_\lambda w_n) \oplus (1 - \alpha_n) T^n(J_\lambda w_n), \quad \forall n \ge 1.$$
(3.4)

By a similar method to the proof of Sect. 1, we can also prove that the sequence $\{w_n\}$ is well defined and bounded.

Now we prove that

$$\lim_{n \to \infty} d(x_{n+1}, w_n) = 0.$$
(3.5)

In fact, it follows from (3.1) and (3.4) that

$$\begin{aligned} d(x_{n+1},w_n) &= d\left(\alpha_n f\left(J_{\lambda}(x_n)\right) \oplus (1-\alpha_n) T^n \left(\beta_n J_{\lambda}(x_n) \oplus (1-\beta_n) J_{\lambda}(x_{n+1})\right), \\ &\alpha_n f\left(J_{\lambda}w_n\right) \oplus (1-\alpha_n) T^n (J_{\lambda}w_n)\right) \\ &\leq \alpha_n d\left(f\left(J_{\lambda}(x_n)\right), f\left(J_{\lambda}w_n\right)\right) \\ &+ (1-\alpha_n) d\left(T^n \left(\beta_n J_{\lambda}(x_n) \oplus (1-\beta_n) J_{\lambda}(x_{n+1})\right), T^n (J_{\lambda}w_n)\right) \\ &\leq \alpha_n \gamma d(x_n,w_n) \\ &+ (1-\alpha_n) k_n \left\{\beta_n d\left(J_{\lambda}(x_n), J_{\lambda}w_n\right) + (1-\beta_n) d\left(J_{\lambda}(x_{n+1}), J_{\lambda}w_n\right)\right\} \\ &\leq \alpha_n \gamma d(x_n,w_n) + (1-\alpha_n) k_n \left\{\beta_n d(x_n,w_n) + (1-\beta_n) d(x_{n+1},w_n)\right\}. \end{aligned}$$

After simplifying, and using (3.3), we have

$$d(x_{n+1}, w_n) \leq \frac{\alpha_n \gamma + \beta_n k_n - \alpha_n \beta_n k_n}{1 - (1 - \alpha_n - \beta_n + \alpha_n \beta_n) k_n} d(x_n, w_n)$$

$$= \left\{ 1 - \frac{-(k_n - 1 - \alpha_n k_n + \alpha_n \gamma)}{1 - (1 - \alpha_n - \beta_n + \alpha_n \beta_n) k_n} \right\} d(x_n, w_n)$$

$$\leq \left\{ 1 - \frac{-(\alpha_n \epsilon - \alpha_n k_n + \alpha_n \gamma)}{1 - (1 - \alpha_n - \beta_n + \alpha_n \beta_n) k_n} \right\} d(x_n, w_n)$$

$$= \left\{ 1 - \frac{(k_n - \gamma - \epsilon) \alpha_n}{1 - (1 - \alpha_n - \beta_n + \alpha_n \beta_n) k_n} \right\} d(x_n, w_n)$$

$$\leq \left(1 - \frac{(1 - \gamma - \epsilon) \alpha_n}{\alpha_n + \beta_n - \alpha_n \beta_n} \right) d(x_n, w_n)$$

$$\leq (1 - (1 - \gamma - \epsilon) \alpha_n) [d(x_n, w_{n-1}) + d(w_{n-1}, w_n)]. \tag{3.6}$$

In order to use Lemma 2.9, it should be proved that

$$\limsup_{n \to \infty} \frac{d(w_{n-1}, w_n)}{(1 - \gamma - \epsilon)\alpha_n} = 0.$$
(3.7)

Indeed, it follows from Lemma 2.1 that

$$d(w_n, w_{n-1}) = d(\alpha_n f(J_\lambda w_n) \oplus (1 - \alpha_n) T^n (J_\lambda w_n),$$
$$\alpha_{n-1} f(J_\lambda w_{n-1}) \oplus (1 - \alpha_{n-1}) T^{n-1} (J_\lambda w_{n-1}))$$

$$\leq d(\alpha_n f(J_{\lambda}w_n) \oplus (1-\alpha_n)T^n(J_{\lambda}w_n), \alpha_n f(J_{\lambda}w_n) \oplus (1-\alpha_n)T^n(J_{\lambda}w_{n-1})) + d(\alpha_n f(J_{\lambda}w_n) \oplus (1-\alpha_n)T^n(J_{\lambda}w_{n-1}), \alpha_n f(J_{\lambda}w_{n-1}) \oplus (1-\alpha_n)T^n(J_{\lambda}w_{n-1})) + d(\alpha_n f(J_{\lambda}w_{n-1}) \oplus (1-\alpha_n)T^n(J_{\lambda}w_{n-1}), \alpha_{n-1}f(J_{\lambda}w_{n-1}) \oplus (1-\alpha_{n-1})T^{n-1}(J_{\lambda}w_{n-1})) \leq (1-\alpha_{n-1})d(T^n(J_{\lambda}w_n), T^n(J_{\lambda}w_{n-1})) + \alpha_n d(f(J_{\lambda}w_n), f(J_{\lambda}w_{n-1})) + |\alpha_n - \alpha_{n-1}|d(f(J_{\lambda}w_{n-1}), T^n(J_{\lambda}w_{n-1}))) \leq (1-\alpha_{n-1})k_n d(w_n, w_{n-1}) + \alpha_n \gamma d(w_n, w_{n-1}) + |\alpha_n - \alpha_{n-1}|M^*,$$

where $M^* = \sup_{n \ge 1} d(f(J_{\lambda}w_{n-1}), T^n(J_{\lambda}w_{n-1}))$. After simplifying and using (3.3) we have

$$d(w_n, w_{n-1}) \leq \frac{1}{-(k_n - 1 - \alpha_n k_n + \alpha_n \gamma)} |\alpha_n - \alpha_{n-1}| M^*$$
$$\leq \frac{1}{-(\epsilon - k_n + \gamma)\alpha_n} |\alpha_n - \alpha_{n-1}| M^*$$
$$\leq \frac{1}{(1 - \epsilon - \gamma)\alpha_n} |\alpha_n - \alpha_{n-1}| M^*.$$

By the condition (iv) we have

$$\limsup_{n\to\infty}\frac{d(w_n,w_{n-1})}{(1-\epsilon-\gamma)\alpha_n}\leq\limsup_{n\to\infty}\frac{|\alpha_n-\alpha_{n-1}|}{(1-\epsilon-\gamma)^2\alpha_n^2}M^*=0.$$

This implies that (3.7) is true. By Lemma 2.9 and (3.6), we get

$$\lim_{n \to \infty} d(x_{n+1}, w_n) = 0. \tag{3.8}$$

(IV) Next we prove that $\{x_n\}$ converges strongly to some point $x^* \in \Gamma := Fix(T) \cap A^{-1}(0)$ which is also the unique solution of the following variational inequality:

$$\langle \overrightarrow{x^* f(x^*)}, \overrightarrow{qx^*} \rangle \ge 0, \quad \forall q \in \Gamma.$$
 (3.9)

By (3.8), in order to prove $\{x_n\}$ converges strongly to some point $x^* \in \Gamma$, it suffices to prove that $\{w_n\}$ converges strongly to this point $x^* \in \Gamma$.

In fact, it follows from (3.1) and (3.4) that

$$d(w_n, T^n J_{\lambda}(w_n)) = d(\alpha_n f(J_{\lambda} w_n) \oplus (1 - \alpha_n) T^n (J_{\lambda} w_n), T^n (J_{\lambda}(w_n)))$$

$$\leq \alpha_n d(f(J_{\lambda} w_n), T^n (J_{\lambda}(w_n))) \to 0.$$
(3.10)

Also for each $p \in \Gamma$, it follows from (2.4) that

$$d^{2}(w_{n},p) = d^{2}\left(\alpha_{n}f(J_{\lambda}w_{n}) \oplus (1-\alpha_{n})T^{n}(J_{\lambda}w_{n}),p\right)$$

$$\leq \alpha_{n}d^{2}\left(f(J_{\lambda}w_{n}),p\right) + (1-\alpha_{n})d^{2}\left(T^{n}(J_{\lambda}w_{n}),p\right)$$

$$\leq \alpha_{n}d^{2}\left(f(J_{\lambda}w_{n}),p\right) + (1-\alpha_{n})k_{n}^{2}d^{2}\left(J_{\lambda}(w_{n}),p\right).$$
(3.11)

After simplifying, we have

$$-d^{2}(J_{\lambda}(w_{n}),p) \leq \frac{1}{(1-\alpha_{n})k_{n}^{2}} \{\alpha_{n}d^{2}(f(J_{\lambda}w_{n}),p) - d^{2}(w_{n},p)\}.$$
(3.12)

Again since J_{λ} is firmly nonexpansive, we have

$$d^{2}(J_{\lambda}(w_{n}),p) \leq \langle \overrightarrow{J_{\lambda}(w_{n})p}, \overrightarrow{w_{n}p} \rangle$$

= $\frac{1}{2} \{ d^{2}(J_{\lambda}(w_{n}),p) + d^{2}(p,w_{n}) - d^{2}(J_{\lambda}(w_{n}),w_{n}) \}.$

This together with (3.12) shows that

$$d^{2}(J_{\lambda}(w_{n}), w_{n}) \leq d^{2}(p, w_{n}) - d^{2}(J_{\lambda}(w_{n}), p)$$

$$\leq d^{2}(p, w_{n}) + \frac{1}{(1 - \alpha_{n})k_{n}^{2}} \{\alpha_{n}d^{2}(f(J_{\lambda}w_{n}), p) - d^{2}(w_{n}, p)\} \to 0.$$
(3.13)

From (3.10) and (3.13) one gets

$$\lim_{n \to \infty} d(J_{\lambda}(w_n), T^n J_{\lambda}(w_n)) = 0.$$
(3.14)

By the assumption that T is uniformly asymptotic regularity, from (3.14) we obtain

$$d(J_{\lambda}(w_n), TJ_{\lambda}(w_n)) \leq d(J_{\lambda}(w_n), T^n J_{\lambda}(w_n)) + d(T^n J_{\lambda}(w_n), T^{n+1} J_{\lambda}(w_n))$$

+ $d(T^{n+1} J_{\lambda}(w_n), TJ_{\lambda}(w_n))$
$$\leq (1 + k_1) d(J_{\lambda}(w_n), T^n J_{\lambda}(w_n)) + d(T^n J_{\lambda}(w_n), T^{n+1} J_{\lambda}(w_n))$$

 $\rightarrow 0 \quad (\text{as } n \rightarrow \infty).$ (3.15)

Since $\{w_n\}$ is bounded, by Lemma 2.2(1) there exists a subsequence $\{w_{n_i}\}$ of $\{w_n\}$ which Δ -converges to some point x^* . It then follows from (3.13) that there exists a subsequence $\{J_{\lambda}(w_{n_i})\}$ of $\{J_{\lambda}(w_n)\}$ which Δ -converges to x^* . Thus, from (3.13), (3.15), and Lemma 2.6(2), we obtain $x^* \in Fix(T) \cap A^{-1}(0) = \Gamma$.

Next we prove that $\lim_{n\to\infty} w_n = x^*$ which is also the unique solution of the variational inequality (3.9).

In fact, it follows from Lemma 2.1(4) that

$$d^{2}(w_{n}, x^{*}) = d^{2}(\alpha_{n}f(J_{\lambda}w_{n}) \oplus (1 - \alpha_{n})T^{n}(J_{\lambda}w_{n}), x^{*})$$

$$\leq \alpha_{n}^{2}d^{2}(f(J_{\lambda}w_{n}), x^{*}) + (1 - \alpha_{n})^{2}d^{2}(T^{n}(J_{\lambda}w_{n}), x^{*})$$

$$+ 2\alpha_{n}(1 - \alpha_{n})\langle \overline{f(J_{\lambda}w_{n})x^{*}}, \overline{T^{n}(J_{\lambda}w_{n})x^{*}} \rangle$$

$$\leq \alpha_{n}^{2}d^{2}(f(J_{\lambda}w_{n}), x^{*}) + (1 - \alpha_{n})^{2}k_{n}^{2}d^{2}(J_{\lambda}w_{n}, x^{*})$$

$$+ 2\alpha_{n}(1 - \alpha_{n})\{\langle \overline{f(J_{\lambda}w_{n})x^{*}}, \overline{T^{n}(J_{\lambda}(w_{n}))J_{\lambda}(w_{n})} \rangle$$

$$+ \langle \overline{f(J_{\lambda}w_{n})f(x^{*})}, \overline{J_{\lambda}(w_{n})x^{*}} \rangle + \langle \overline{f(x^{*})x^{*}}, \overline{J_{\lambda}(w_{n})x^{*}} \rangle \}$$

$$\leq \alpha_n^2 d^2 (f(J_\lambda w_n), x^*) + (1 - \alpha_n)^2 k_n^2 d^2 (w_n, x^*) + 2\alpha_n (1 - \alpha_n) \{ d(f(J_\lambda w_n), x^*) d(T^n (J_\lambda (w_n)), J_\lambda (w_n)) + \gamma d^2 (w_n, x^*) + \langle \overrightarrow{f(x^*)x^*}, \overrightarrow{J_\lambda (w_n)x^*} \rangle \}.$$

After simplifying, we have

$$d^{2}(w_{n}, x^{*}) \leq \frac{\alpha_{n}}{1 - 2\alpha_{n}(1 - \alpha_{n})\gamma - (1 - \alpha_{n})^{2}k_{n}^{2}} \{\alpha_{n}d^{2}(f(J_{\lambda}w_{n}), x^{*}) + 2(1 - \alpha_{n})[d(f(J_{\lambda}w_{n}), x^{*})d(T^{n}(J_{\lambda}(w_{n})), J_{\lambda}(w_{n})) + \langle \overrightarrow{f(x^{*})x^{*}}, \overrightarrow{J_{\lambda}(w_{n})x^{*}} \rangle]\}.$$
(3.16)

We use

$$\frac{\alpha_n}{1 - 2\alpha_n (1 - \alpha_n)\gamma - (1 - \alpha_n)^2 k_n^2} = \frac{1}{(2 - \alpha_n)k_n^2 - 2(1 - \alpha_n)\gamma + \frac{(1 - k_n)(1 + k_n)}{\alpha_n}} \to \frac{1}{2(1 - \gamma)} \quad (\text{as } n \to \infty).$$
(3.17)

Again since $\{J_{\lambda}(w_{n_i})\}$ Δ -converges to $x^* \in \Gamma$, by Lemma 2.2(2), we have

$$\lim_{n_i \to \infty} \langle \overrightarrow{f(x^*)x^*}, \overrightarrow{J_{\lambda}(w_{n_i})x^*} \rangle = \limsup_{n_i \to \infty} \langle \overrightarrow{f(x^*)x^*}, \overrightarrow{J_{\lambda}(w_{n_i})x^*} \rangle \le 0.$$
(3.18)

It follows from (3.14), (3.16), (3.17) and (3.18) that

$$\lim_{n_i \to \infty} d(w_{n_i}, x^*) = 0.$$
(3.19)

Next we prove that x^* is a solution of variational inequality (3.9). In fact, for any $q \in \Gamma$, it follows from Lemma 2.1(4) that (for the sake of convenience we denote $\{w_{n_i}\}$ by $\{w_i\}$)

$$d^{2}(w_{i},q) = d^{2}(\alpha_{n}f(J_{\lambda}w_{i}) \oplus (1-\alpha_{i})T^{i}(J_{\lambda}w_{i}),q)$$

$$\leq \alpha_{i}d^{2}(f(J_{\lambda}w_{i}),q) + (1-\alpha_{i})d^{2}(T^{i}(J_{\lambda}w_{i}),q)$$

$$-\alpha_{i}(1-\alpha_{i})d^{2}(f(J_{\lambda}w_{i}),T^{i}(J_{\lambda}w_{i}))$$

$$\leq \alpha_{i}d^{2}(f(J_{\lambda}w_{i}),q) + (1-\alpha_{i})k_{i}^{2}d^{2}(w_{i},q)$$

$$-\alpha_{i}(1-\alpha_{i})d^{2}(f(J_{\lambda}w_{i}),T^{i}(J_{\lambda}w_{i})).$$

After simplifying we have

$$d^{2}(w_{i},q) \leq \frac{1}{\frac{1-k_{i}^{2}}{\alpha_{i}} + k_{i}^{2}} \left\{ d^{2} \left(f(J_{\lambda}w_{i}),q \right) - (1-\alpha_{i}) d^{2} \left(f(J_{\lambda}w_{i}),T^{i}(J_{\lambda}w_{i}) \right) \right\}.$$
(3.20)

On the other hand, it follows from (3.19) and (3.13) that $w_i \to x^*$ and $J_{\lambda}(w_i) \to x^*$ (as $i \to \infty$). Hence $f(J_{\lambda}(w_i)) \to f(x^*)$. Again by (3.14) and condition (iii), $T^i(J_{\lambda}w_i) \to x^*$ and

$$\frac{1}{\frac{1-k_i^2}{\alpha_i}+k_i^2} \to 1 \text{ (as } i \to \infty\text{). Letting } i \to \infty \text{ in (3.20) we have}$$

i.e.,

$$0 \le d^2(f(x^*), q) - d^2(f(x^*), x^*) - d^2(x^*, q).$$

 $d^{2}(x^{*},q) \leq d^{2}(f(x^{*}),q) - d^{2}(f(x^{*}),x^{*}),$

Hence we have

$$\langle \overrightarrow{x^*f(x^*)}, \overrightarrow{qx^*} \rangle = \frac{1}{2} \{ d^2(f(x^*), q) - d^2(f(x^*), x^*) - d^2(x^*, q) \} \ge 0, \quad \forall q \in \Gamma,$$

i.e., x^* is a solution of variational inequality (3.9). If there exists another subsequence $\{w_{n_k}\}$ of $\{w_n\}$ which Δ -converges to y^* . By the same argument, we know that $y^* \in \Gamma$ which solves the variational inequality (3.9). Therefore we have

$$\langle \overrightarrow{x^*f(x^*)}, \overrightarrow{y^*x^*} \rangle \ge 0,$$

 $\langle \overrightarrow{y^*f(y^*)}, \overrightarrow{x^*y^*} \rangle \ge 0.$

Adding the above two inequalities, we obtain

$$0 \leq \langle \overrightarrow{x^*f(x^*)}, \overrightarrow{y^*x^*} \rangle - \langle \overrightarrow{y^*f(y^*)}, \overrightarrow{y^*x^*} \rangle$$
$$= \langle \overrightarrow{x^*f(y^*)}, \overrightarrow{y^*x^*} \rangle + \langle \overrightarrow{f(y^*)f(x^*)}, \overrightarrow{y^*x^*} \rangle$$
$$- \langle \overrightarrow{y^*x^*}, \overrightarrow{y^*x^*} \rangle - \langle \overrightarrow{x^*f(y^*)}, \overrightarrow{y^*x^*} \rangle$$
$$\leq \gamma d^2(y^*, x^*) - d^2(y^*, x^*) < 0.$$

This is a contradiction, and so $x^* = y^*$. Hence $\{w_n\}$ converges strongly to x^* . By (3.8) one shows that $\{x_n\}$ converges strongly to x^* .

This completes the proof of Theorem 3.1.

Acknowledgements

The authors would like to thank the handling editors and anonymous referee for the help in the processing of the paper.

Funding

The first and the second authors were supported by the grant from China Medical University, Taiwan. The third author was supported by the Taiwan MOST [grant number 106-2115-M-037-001] and the grant from Research Center for Nonlinear Analysis and Optimization, Kaohsiung Medical University, Taiwan. The fourth author was supported by the National Natural Sciences Foundation of China (Grant No. 11361070).

Competing interests

The authors declare that they have no competing interests.

Authors' contributions

All authors contributed equally to the writing of this paper. All authors read and approved the final manuscript.

Author details

¹Center for General Education, China Medical University, Taichung, Taiwan. ²Center for Fundamental Science; and Research Center for Nonlinear Analysis and Optimization, Kaohsiung Medical University, Kaohsiung, Taiwan. ³Department of Medical Research, Kaohsiung Medical University Hospital, Kaohsiung, Taiwan. ⁴College of Statistics and Mathematics, Yunnan University of Finance and Economics, Kunming, China.

Publisher's Note

Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.

Received: 24 May 2018 Accepted: 25 August 2018 Published online: 12 September 2018

References

- Martinet, B.: Régularisation d'inéquations variationnelles par approximations successives. Rev. Fr. Inform. Rech. Opér. 4, 154–158 (1970)
- 2. Rockafellar, T.: Monotone operators and the proximal point algorithm. SIAM J. Control Optim. 14, 877–898 (1976)
- Bruck, R.E., Reich, S.: Nonexpansive projections and resolvents of accretive operators in Banach spaces. Houst. J. Math. 3, 459–470 (1977)
- 4. Güler, O.: On the convergence of the proximal point algorithm for convex minimization. SIAM J. Control Optim. 29, 403–419 (1991)
- Bauschke, H.H., Matoušková, E., Reich, S.: Projection and proximal point methods: convergence results and counterexamples. Nonlinear Anal. 56, 715–738 (2004)
- Takahashi, W.: Viscosity approximation methods for resolvents of accretive operators in Banach spaces. J. Fixed Point Theory Appl. 1, 135–147 (2007)
- 7. Maingé, P.-E.: Viscosity methods for zeroes of accretive operators. J. Approx. Theory 140, 127–140 (2006)
- 8. Bačák, M.: The proximal point algorithm in metric spaces. Isr. J. Math. 194, 689–701 (2013)
- 9. Li, C., López, G., Martín-Márquez, V.: Monotone vector fields and the proximal point algorithm on Hadamard manifolds. J. Lond. Math. Soc. **79**, 663–683 (2009)
- 10. Cholamjiak, P.: The modified proximal point algorithm in CAT(0) spaces. Optim. Lett. 9, 1401–1410 (2015)
- Chang, S., Yao, J.-C., Wang, L., Qin, L.J.: Some convergence theorems involving proximal point and common fixed points for asymptotically nonexpansive mappings in CAT(0) spaces. Fixed Point Theory Appl. 2016, Article ID 68 (2016)
- Chang, S.-S., Wen, C.-F., Yao, J.-C.: Proximal point algorithms involving Cesaro type mean of asymptotically nonexpansive mappings in CAT(0) spaces. J. Nonlinear Sci. Appl. 9, 4317–4328 (2016)
- Chang, S.-S., Wen, C.-F., Yao, J.-C.: Common zero point for a finite family of inclusion problems of accretive mappings in Banach spaces. Optimization 67, 1183–1196 (2018)
- Khatibzadeh, H., Mohebbi, V., Ranjbar, S.: New results on the proximal point algorithm in nonpositive curvature metric spaces. Optimization 66(7), 1191–1199 (2017)
- Khatibzadeh, H., Ranjbar, S.: Monotone operators and the proximal point algorithm in complete CAT(0) metric spaces. J. Aust. Math. Soc. 103, 70–90 (2017)
- Ranjbar, S., Khatibzadeh, H.: Strong and Δ-convergence to a zero of a monotone operator in CAT(0) spaces. Mediterr. J. Math. 14, Article ID 56 (2017)
- 17. Cholamjiak, P., Abdou, A.A., Cho, Y.J.: Proximal point algorithms involving fixed points of nonexpansive mappings in CAT(0) spaces. Fixed Point Theory Appl. **2015**, Article ID 227 (2015)
- Suparatulatorn, R., Cholamjiak, P., Suantai, S.: On solving the minimization problem and the fixed-point problem for nonexpansive mappings in CAT(0) spaces. Optim. Methods Softw. 32, 182–192 (2017)
- 19. Bačak, M., Reich, S.: The asymptotic behavior of a class of nonlinear semigroups in Hadamard spaces. J. Fixed Point Theory Appl. 16, 189–202 (2014)
- Cho, S.Y., Bin Dehaish, B.A., Qin, X.: Weak convergence of a splitting algorithm in Hilbert spaces. J. Appl. Anal. Comput. 7, 427–438 (2017)
- Bruhat, M., Tits, J.: Groupes reductifs sur un corps local. I. Données radicielles valuées. Publ. Math. Inst. Hautes Études Sci. 41, 5–251 (1972)
- 22. Goebel, K., Reich, S.: Uniform Convexity, Hyperbolic Geometry, and Nonexpansive Mappings. Marcel Dekker, New York (1984)
- 23. Brown, K.S.: Buildings. Springer, New York (1989)
- 24. Berg, I.D., Nikolaev, I.G.: Quasilinearization and curvature of Alexandrov spaces. Geom. Dedic. 133, 195–218 (2008)
- Ahmadi Kakavandi, B., Amini, M.: Duality and subdifferential for convex functions on complete CAT(0) metric spaces. Nonlinear Anal. 73, 3450–3455 (2010)
- 26. Dhompongsa, S., Kirk, W.A., Sims, B.: Fixed points of uniformly Lipschitzian mappings. Nonlinear Anal. 65, 762–772 (2006)
- 27. Kirk, W.A., Panyanak, B.: A concept of convergence in geodesic spaces. Nonlinear Anal. 68, 3689–3696 (2008)
- Ahmadi Kakavandi, B.: Weak topologies in complete CAT(0) metric spaces. Proc. Am. Math. Soc. 141, 1029–1039 (2013)
- Chang, S.S., Lee, H.W.J., Chan, C.K., Wang, L.: Demiclosed principle and 4-convergence theorems for total asymptotically nonexpansive mappings in CAT(0) spaces. Appl. Math. Comput. 219, 2611–2617 (2012)
- 30. Xu, H.K.: Iterative algorithms for nonlinear operators. J. Lond. Math. Soc. 66(1), 240–256 (2002)